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You are not able to delete a request from a DSO. What best describes the situation? Select the correct
answer

A. The request has been compressed.

B. The request is contained in an Aggregate.

C. The request is contained in a subsequent InfoProvider.
D. The request must be deleted selectively.

Answer: C

You are not able to transport newly created queries from your development SAP BW system to
production. Which of the following could be a possible problem. There are 2 correct answers.

A. The queries have not been written against a MultiProvider.

B. The queries not have an active version.

C. The queries are contained in the incorrect InfoArea.

D. The queries have not been assigned to a BEx transport request.

Answer: B,D

After transporting BEx workbooks to production from development, users state that they cannot find
the workbooks. What would be the most logical reason? Select the correct answer.

A. The BEx workbooks are not active in production.
B. The users' roles have to be updated in production.
C. The BEx workbooks have not been authorized.

D. The users' roles have to be re-transported.

Answer: D.
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You want to increase the overall performance of a designed standard DSO. The DSO has contains 100
InfoObjects in its definition, 5 of which are in the Key Part. Which of the following possible actions
should you take? There are 3 correct answers.

A. Create secondary indexes.

B. Decrease the size of the Key Part.

C. Set up automatic deletion of Change Log data.

D. Set the Settings option for Unique records.

E. Set up the automatic movement of Active Table records to a subsequent InfoProvider.

Answer: A,C,D

Which of the following layers of the LSA can also serve in the capacity of Corporate Memory? Select the
correct answer.

A. The Data Acquisition layer.

B. The Business Transformation layer.

C. The Quality and harmonization layers.
D. The Data Propagation layers.

E. The Reporting layer.

Answer: D

A Business Content transactional Datasource that uses delta queue processing was converted to Real
Time Data Acquisition. An analysis reveals that no new deltas are being transferred into SAP BW 7.x,
even though documents are regularly created in the SAP source system delta queue. What tools could
you use? There are 2 correct answers.

A. Process Chain Monitor

B. Extractor Checker in SAP ECC
C. SAP BW Delta Queue

D. Data Load Monitor

Answer: B,D
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An InfoCube has been designed with 2 user-defined Dimensions containing 1 and 3 Characteristics
respectively. All InfoObjects have the same level of master data value cardinality. How can you change
the design of the InfoCube to optimize performance? Select the correct answer.

A. Put all Characteristics in a single user-defined Dimension.

B. Distribute the InfoObjects unevenly between the Dimensions.

C. Make the single InfoObject the one Dimension the key of the InfoCube.
D. Create 2 more Dimensions so that each has only 1 InfoObject.

Answer: D

The Materials department has created several new products (OPRODUCT) and transactional data for
them in the source system. Neither the new products nor the transactional data are visible in SAP BW
reporting. Which of the following helps you analyze the issue? There are 3 correct answers.

A. Check for the new data in the DataSource PSA.

B. Check that the InfoCube compression is up to date.

C. Check that the InfoCube contains the new master data.

D. Check that the InfoCube contains the new transaction data.
E. Check the Attribute Change Run.

Answer: A,C,E

You have added the fields "ZCOUNTRY" and "ZLOCALITY" to the DataSource, OCUSTOMER_ATTR . Which
of the following is necessary to ensure that the new fields can be extracted from the source system into
PSA of the DataSource in SAP BW. Select the correct answer.

A. All target InfoProviders must be active and connected.

B. All target InfoProviders must have their table space increased.

C. All fields of OCUSTOMER_ATTR have been mapped.

D. All active customer ABAP enhancements of OCUSTOMER_ATTR are active

Answer: D
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What are the features of using the Operational Data Provisioning (ODP) Infrastructure in BW 7.4? There
are 3 correct answers.

A. Extract once and deploy many times.

B. Relies on the proven Delta Queue technology.

C. High compression rate up to 90% of extracted data.
D. Single point of monitoring.

E. Makes complete use of mandatory PSA's.

Answer: A,B,D
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